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Choose the correet answer for cach of the questions from 1 (o 5,

1 4 741 5 SiTe 2t 219 w5 Sears 2% ShHjea

L. Ifthe roots of the quadratic cquation qx” + by +¢=0. (a+0) are cqual,

then

M ax’ + by +e =0.I (a0) fare e R o 2, (ery
@  p*—dac>0
D) B _due <)
(€) B —4ac=0
(d)  b* —dac 0 l

]

E-

12

. I sin0 = 0° <0 <90°. then the value of @ is

g .t:in()=%. 0" <0 <90 (TEEE 0490 T

(@ 30°
(b) 45°
B14-GM (2]
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(c; 60 ’

()

th

3. The mode of the distribution 4. 5. 6. 3. 4. 5. 2. 8, 4. 218
4.5, 6.3, 4. 5.2, 8. 4. 2 faerewitn 7@ T4 ¢
fa) J
(b) 45
(¢
() &
4. If for any cvent £ P(£)=0-11, when [7 means “an cvent
happening £ then the value of P (I_) 1S
e 51 £ A @@ P(E)=0-11 X3, T E @17 L0 a1
cera P(E) 2 W %3
(@) 1-00
B14 GM (31
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th)  9.99
fci .89

(W 1.1]

N

The distance of the point (3. 4) from the origin is

T A oA (-3, 4) B vy o

. <

7.
thy 7
(c) 12
(dy 3

6. It d=1{a.b.c.d. e Sy and B={a. b d, /! find B- A

WoA={ub.cd. e f) v B=1ja.b.d, /') %8, B-. S ==
BI4-GM | (4]

http://www.assamboard.com

wod pieoquuesse mmm//:dny



wod pIeoquuesse mmm//:dny

I A=) pog.r b, then write the set P(.1)

Wi d=! pogor). comemE P(A) weEes faa

R I P(v)=x" =527 +7x +3. then what will be value of P(-2)
i py)=x" - 537+ Tx+ 3. 2T P(-2) 3w T 4y
9. Write down the quadratic eguation whose roots are 3 and -3,
3 W -3 5 @5 FRIT FEED e
10, Find the surface area of the cuboid of length 8em. breadth 6¢m
height 3em.
8 B5 TIeH. 6 (gl 75E W 3 M I wEeasiEa saiE ehe
1. Tind the Median of the following distribution
5. 810, 6. 120 110 4. 7. 3.
QG ,f"} |%.U|i,"t¢?i [ ¥l Ir I—"]t ] €4 _
15, 8. 10, 6. 12. 11,4 7. 5.9
1314 GM [5] Ce
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2. Tf the Mean of 15, 12, x, 10, 16, 19 is 12.

]

of x? !

T 15, 12, x, 10, 16. 19 %7 514 12 T, (07 x 9| 0 @

13. Are the two points A(-4.5) and B(2,5) on a line parallel to the

x-axis ? ' 1

A(-4.5) S B(2, 5) R 51 x-WPm TR QAT Wi o

3x+2y
2x+5y

14, If x:v=2:3_ then (ind the value of

IfiF Xx:y=2:3, (37 3'T'+2y 7 i P 9=
. 2x 45y

15. II‘A={.\'EN:I<1‘<6} and B={xeN :x <3}, then find n (4x B).
' I

?ﬁA={xeN:]<x<6}W8 ={xeN:x< 3}, o n (Ax B) fiefy
Sall '

B14-GM [6]
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146.

Il the roots of the quadratic equation 2x” ~10x+K =0 are 2 and 3. t

what will be the valuc of K'?

17. If A={1.2.3,4,5}, B={34,57.10} and C={1.2,3.7} st
that !
afi A4={1,2.3.4.5}. B={3,4.57.10} & C={1.2.3.7}
54l (T

A-(BUC)=(4-B)N(4-C)

18. The points A, A’ are symmetrical about a line / and / intcrscets Az
the point M. I[ P is any point on the lin . prove that ZAPM = ZA'
A, A G w0 | @l AT AREE | | @A AL TS M aws (% =R
P Rt | @<IeETE <N (€08 o N @ LAPM = LA'PM |

B14-GM [7] Ce
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9. Eis the point of intersection of the line segments AB and €D such that
ALAC~AEBD. 1f CA=8em. BD=4dem, CE=6-5¢cm and
EB=2-8cm, Find AF and ED. 2
AB % D (e lem FA9me  AEAC ~ AEBD, 5% (=8 21,
BD =4, (CE=6-50~, EB=2.8@R. (o AL s ED A ki

TfHeal

L 1la. b e d arc in proportion. prove that
W a b, e, d AW TS wemAfeE T o wme = o
2a+3b  2c+3d 5
2a-3h  2c-3d "r
The lengths of two adjacent sides of a parallelogram are Sem and 3-6em
respectively and the length of one of its diagonals is 6-Sem. Construct
the parallelogram. 2
T G AL FO S5a1 26 A T 6l SES U 3655 u
G T W 6.5 (8 (T AT T =

+-GM [8]
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-

Construct a square of side 3em.

23. I the surface area of a sphere is 3544 em™, find its diameter.
51 oiwied o S50 e mfl 2E, B A el e

24 One card from a well-shullled pack of plaving cards is deawn out. Fine
the probabilitics so that the card becomes the king of Diamonds. 7
ST Sy FrpefenE waE < st ot Tl el e 7R g fi
%40 A AT FETE SRR TH

25, Ifapoint (x,y) is equidistant from the twa points (3, 6) and (=3, 4) ther
lind the relation between v and i
i (vor) a7 (3.6) W (-3, 4) & 700 o) womae <z, vy UR
V7 ST ARED! e

26. Solve :
A %4

} T
X" +(2a-3b)x = 6ab

27. Construet an angle of 1200 with the help of ruler and compas
only,
wA Y T 2993 w7 €51 120° e (@ S 2 |

BI4-GM [9] . Contic
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28, Some of the transactions of the Savings Bank account of Paran Chaliha
arc given below. [f'the interest is caleulated after the month of September
every vear and the rate of interest is 4.5¢ per annum. how much will |
he cam as interest in his bank account on the first day of October of that |
vear ? 3|

=,

4K HIFER AT TWI ThiE g @IoMN W 2l €ae W gA )
2AC TYF (LA %% (5T Fea Zp T IS Jea ga3ga 4.5% T, (T
WTBRA TZA 22T AT (262 7467 Tl TEploye o el w5 fevirad ol 3y

Date Particulars | Withdrawals | Deposits Balunce
QT feae TR =l g
1
By Cash |
03.0212 | - - . |
3 R 600 600 !
o By Cash ‘
0L o fomra - 400 1000 |
07.03.12 | 0 cheque 200 - 800
(b arat
20312 | BY Cush — 700 1500
e A
By Cash < :
0804121 — 500 2000
7o ZH1
05.05.12 | 10 cheque 100 — 1600
He4 =l
By Cash
03.07.12 | ~ — 1000 2600
=i e
By Cheque
02.09.12 - 1000 3600
%4 [l
B14-GM » [10]

http://www.assamboard.com

wod pieoquuesse mmm//:dny



wod pIeoquuesse mmm//:dny

[ ]

29, Prove that the equal chords of a circle are equidistant {rom the cen
w4 7= (X T8 L5 FAK TER (5 74| Farsa |

30, Ma+f=90.and a: f=1:2.find sina : sinf.

T oa+f=90" WF a: f=1:2 (T sina : sinff el =)

http://www.assamboard.com

25 kg. of rice arc needed to feed 10 persons in a month. Supposing

LI
—

each of the persons consumes the same quantity of rice in cach meal
with the help of variation the quantity of rice (in kg needed to
12 persons for 15 days. [ 1 month = 30 days |

-

10 @9 T GRS 25 a1 SIS AEEn T AT 2
AR BiE o7 3 i, 12 T s 15 e A fEm e

AT T2 %53 ©E AQUE Wl 7 (en = 30 falr)

B14-GM [11] . (
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32, The net taxable income from salary of Mr X age 51 vears and a permanent

resident of India. for the financial year 2007-08 was Rs. 2.23.000. Find
* his income tax for the assessment vear 2008-09 given the following slabs |

for computation of income tax

[ncome Slab | | Rate of tax
(@) Upto Rs. 1,10.000 . Nil
(h)  From Rs, 1.10,001 to -I.S(}.O(l(l 10%,
(¢) Trom Rs. 1.50.001 to 2,50.000 200% )
(d) Education Cess 2%
(e) Sccondz_lr}' and Higher Education Cess 1% Jn
B14-GM [12]
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-
Tad
-

3.

) " o o o . u
S| 9% = oA 7R A WEE X B 2007-08 ke w6 arn
U (@I g ) BT 2,25,000 B | (367 2008-09 2 FéE
A R < € ada e, Terg <= et Bfen adwrer o
2|

oI T4 F49 Ffd
v 1.10,000 FETA g
;h; L.10.001 5 21 1.50.000 52it# - 10%
(c) 150,001 T o 2.5u.mm i | 20%
() TepE o= 20%
() e e T faps v ' 1%

The lengths of two parallel chords of a circle are Sem and 1lem and
distance between the chords is 3em. Find the radius of the circle,

<

€ £O 5 8.5 TR | | 5 T TR 291 A A 3 %L 2T g
TA% ﬁ‘f"f &4l |

The vertex of a tree standing just on the bank of a river makes an a
of elevation of 6 with a point located just on the opposite bank o
river. The vertex ol the tree also makes an angle of elevation of 30
point located at a distance of +0m from the first point at the backs
direction. 1" the two points and the foot of the tree lic on the s
horizontal line, find the height of the tree and the breadth of the ri

B4 GM [13] Co
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TR 7 ) ARE 4 (A B e T B fodle e %l o7
e Al o 60° Tom o Beolw 7| G% RegB o1 40 S i

3 W Bt fere sl A T @6 30° 1 3% R w01 s stgo ARFLH!

G WG TS A, (S0 T Sl Uk TR o (4%7)

LS}
N

Find the ratio in which the point of intersection of the x-axis and the line
segment which joins the points (3, 5) and (2. -7) internally divides the

line segment. Also find the coordinates of the point. 4

(3.5) wrE (2, - 7) % TN @AET x-SR 51 BB @SR

TS ottt W Fef 211 wie iR feom e Rl =

36. Ilow many metres of cloth 3m wide. are nceded 1o make a conical tent

_of base radius 7m and height 24m ? . 5
7L g =i 241, Tovem 6 T o b oA 3Rk S o
f=m fom 2 1erm 2w 342

B14-GM [14]
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37, The marks obtained by the students of a class in Mathematics ar

below, IFind the Mode of the distribution.

= & e . oy — ==
G| CEE7 QKL FEFH Si00eq TN G 446 FEITarhE que ae

&4
Marks obtained | 1-5 | 6-10 J11-i5 | 16-20 | 21-23 [26-30 [31-35{ 3640

ZiZ T4

| 16 52 4118 |10 5

. |

No. of Students

YE-TEH R
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